
3.3 For questions 54-58, complete the second sentence so that it has a similar meaning to the 
first sentence using the word given. Do not change the word given. You must use between 
two and five words, including the word given. Write only the missing words in the answer 
boxes provided. There is an example at the beginning  (0).    (10 marks) 
0     Your house needs to be cleaned. 
have      
You .................................. cleaned. 
 
54   Roberto arrived late this morning because his train was delayed. 
time   
If the train ............................., Roberto  
would not have arrived late this morning. 
 
55   You have to wear a tie in this restaurant. 
supposed     
You ………….. a tie in this restaurant. 
 
56   You’d better take an umbrella. It might rain this evening. 
case     
Take an umbrella …….......... this evening. 
 
57   It’s a pity he behaved like that. 
wish 
I ................................. like that. 
 
58   A very friendly taxi driver drove us into town. 
driven 
We  ......................... a very friendly taxi 
driver. 

 

KEY: 

3.3 Key word transformation 
Two marks for each answer are awarded, divided up as shown. 
No marks are awarded for an answer if: 

• the key word is omitted or changed, 
• more than five or fewer than two words are used. 

 
54  had been (1)  /  on time (1)    

55  are supposed (1)  /   to wear (1) 

56  in case (1)  /    it rains (1)   

57  wish he (1)   /   had not behaved (1)   or   hadn’t behaved (1)       

58  were driven into town (1)  /   by (1)  

need to have your house 

 

 

 

 

 


